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EFRAS R H S
202347 H
Y5 AF
S HeERPRE® R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
AR 2.277 0.003 - 0.092 0.008 =
LA M 1512 0.008 - 0.310 0.065 =
(L& (HCI) 4545 0.060 - 0.191 0.142 2
SAEE (HF) 0.306 0.007 - 0.040 0.021 =
— &bk (SO2) 15.147 0.083 - 6.507 2.259 =
—& L% (CO) 7.578 0.002 - 0.153 0.030 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.670 - 6.578 1.447 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.006 - 0.014 0.008 =
SN 0.756 0.031-0.104 0.065 =
/L& (HCI) 0.756 0.117 - 0.169 0.142 2
SAEE (HF) 0.072 0.017 - 0.027 0.021 =
—&/EHi (SO2) 3.789 2.071 - 2.636 2.263 =
—&{Ef% (CO) 3.789 0.018 - 0.050 0.030 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 0.873 - 3.450 1.483 2
SHE
28 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0002 =
S SE VAR 0.003789 <0.0010 =
R A 0.0378 <0.0045 &
g I Ry ki) 7.575 x 10 <4.910x 10 =
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EFRAS R H S
202347 H
JE® BE
S HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
AR 2.277 0.002 - 0.013 0.004 =
G A P 1512 0.012 - 0.363 0.052 =
/L% (HCI) 4.545 0.032-0.162 0.079 2
SFAEE (HF) 0.306 0.011 - 0.056 0.026 =
—2ERR (SO2) 15.147 1.335 - 4.644 2.578 =
—& L% (CO) 7.578 0.002 - 0.089 0.030 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.969 - 8.107 2.190 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.003 - 0.006 0.004 =
SN 0.756 0.024 - 0.108 0.052 =
/L& (HCI) 0.756 0.054 - 0.099 0.079 2
LS (HF) 0.072 0.016 - 0.033 0.026 =
—&/EHi (SO2) 3.789 2.255 - 2.996 2.580 =
—&{Ef% (CO) 3.789 0.017 - 0.054 0.030 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 1.519 - 3.402 2.193 2
SHE
28 HERRE® RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
g I Ry ki) 7.575 x 10 <6.363 x 10 =
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28 HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
AR 2.277 0.003 - 0.026 0.006 =
AT 1.512 0.027 - 0.494 0.079 =
/L& (HCI) 4545 0.053 - 0.398 0.126 2
SAEE (HF) 0.306 0.007 - 0.112 0.036 =
— /BT (SO2) 15.147 0.042-7.116 2.560 =2
—%& Ll (CO) 7.578 0.014 - 0.194 0.061 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.711 - 6.702 1.488 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.003 - 0.015 0.006 =
SN 0.756 0.054 - 0.128 0.079 =
/L& (HCI) 0.756 0.076 - 0.158 0.126 2
SAEE (HF) 0.072 0.019 - 0.051 0.036 =
—&/EHi (SO2) 3.789 2.250 - 2.855 2.550 =
—&{Ef% (CO) 3.789 0.038 - 0.101 0.060 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 0.953 - 2.606 1.512 2
SR
28 HERREO BERaE R R
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
T Ry g ) 7.575 x 10 <5.949 x 10 =
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